ED#. BN
=

BURFSD 2 DOEDMKRE

N
F U5 OBREIZ.TOLHIZEET 5%,
FFF RO FICR %,
FEXE: 2 ODEDOREIT 2 B
- 2O0DIEDE OB - 2ODBRDOE DB
2ODHDOBICR B 2ODHDREIC R B
1 1 v ) 1 |
(16)+(4+3) =+ (6+3) = +2 (76)+(73)=+(6+3)=+2
EDOFFIC 5 EDFFIC% 5
\_ J
ERB3FSD 2 DOBDRE N\
B 50BREZ. TOL)ICEHET 5,
P BHOFFICk b,
FEXTE: 2 ODEDBEIZ % B o
CBLLEBFED 200D
20DBDWIZ2 B 2O0DBDOEITE D
) 1 v ) ) !
(T6)+(T3)=T(6+3)=_2 (16)+(T3)=T(6+3)=_2
BAOFHFITRD BHOFEFIT A
g J
DD TERI RE N
BRI BMOETHET A LD TE 5,
(+6) ~(=3) (=5) + (+10)
_*t6 __ =5
-3 +10
__ __1
2
g J
BE - T OERIT D> O0— KT NE [BHDOY R THE  https://www.okadori.net ©BHMD R



